2 March 2010

To: Senate Finance Committee
Attn: Senator Bert Stedman, Co-Chairman
From: David Wood

Date: 2 March, 2010

Re: Answer to Question & Request Raised by Senator Thomas during My
Testimony (25 February 2010) - Fiscal Years 2008 and 2009

The very pertinent and perceptive question asked earlier today by Senator Thomas sought
information with respect to how might the gas dilution / cross subsidy effect identified in
Alaska’s current production tax rules have impacted the production taxes actually paid in recent
periods had a gas line been in operation at the time?

In order to provide an indicative answer to this question | have taken the data for price, volume
and costs (excluding Cook Inlet Gas) for fiscal years 2008 and 2009 (i.e. July 2007 to June 2008
and July 2008 to June 2009), which are available from the Alaska Department of Revenue
(DOR), Fall 2008 and 2009 Revenues Sources Books (RSB), {(Dec 2008and Dec 2009). These two
periods encompass the wide range of oil prices that prevailed since the ACES rules were in
place. The six tables attached (three for each fiscal period) to this document provide the
necessary data and calculations to establish the impact of the cross subsidy effect.

Note that in this calculation the annual figures for production volumes and costs are distributed
pro rata according to days / month across each month of the year. This assumption was
necessary as DOR do not publish a monthly breakdown of the production tax calculation. This
approximation is responsible for the small difference between the actual production tax paid
and that calculated in the tables that follow. For fiscal year 2008 the calculated production tax
shown in Table 1 is 2.7% higher than the actual production tax paid (56867.3 million). For fiscal
year 2009 the calculated production tax shown in Table 1 is 4.5% higher than the actual
production tax paid (53112.0 million). These slight differences are not considered significant in
the context of the purpose of this analysis.
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Fiscal Year 2008

Table 1 calculates the production tax for oil based on actual data showing the components of
that calculation. As no gas is exported the calculations are based upon oil barrels only. This
results in total production tax of $ 7.462 billion which is reduced by investment credits of
$411.5 million to $ 7.050 billion. The calculation shown essentially reproduces the figures from
the RSB (2.7% difference attributed to monthly pro rata production and cost allocations).

Table 2 assumes a 4.5 bcf/day gas line and calculates production tax for this hypothetical gas
stream on a stand-alone basis (i.e. not combined with oil). The calculation uses the U.S.
wellhead natural gas prices from the EIA’s records for the months in question. There would be
some small differentials between these prices and AECO prices in Alberta, but | believe they are
close enough for the purpose. | have also assumed gas transportation costs of $4.5/mcf
(527/boe) and field costs (capital costs plus operating costs) of $400 million ($1.46/ boe) which
are those used by Commissioner Galvin in the examples he provided from the DOR in his
testimony of 24 February 2010. This data computes a total production tax of $ 1.140 billion to
which no investment credits are applied.

By adding the computed production taxes in tables 1 and 2 the stand-alone oil and gas
production tax for this FY 2008 (assuming 4.5 bcf /day) would be $8.599 billion (reduced to
$8.187 billion by the deduction of $411.5 million investment credits).

Table 3 calculates the production tax by combining the revenue cost and volume streams from
tables 1 and 2 to provide a combined oil and gas production tax calculation of $6.776 billion
(reduced to $6.365 billion by the deduction of $411.5 million investment credits).

For this period the loss to the State in production tax revenue caused by the cross subsidy
effect of combining oil and gas in the production tax calculation would have amounted to:

$6.776 billion less $8.599 billion = -$1.822 billion.

This calculation is in line with the figures of potential loss in fiscal revenue discussed during the

testimonies.
Fiscal Year 2009

Table 4 calculates the production tax for oil based on actual data showing the components of
that calculation. As no gas is exported the calculations are based upon oil barrels only. This
results in total production tax of $ 3.601 billion which is reduced by investment credits of $350
million to $ 3.251 billion. The calculation shown essentially reproduces the figures from the
RSB (4.5% difference attributed to monthly pro rata production and cost allocations).
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Table 5 assumes a 4.5 bcf/day gas line and calculates production tax for this hypothetical gas
stream on a stand-alone basis (i.e. not combined with oil). The calculation uses the U.S.
wellhead natural gas prices from the EIA’s records for the months in question. There would be
some small differentials between these prices and AECO prices in Alberta, but | believe they are
close enough for the purpose. | have also assumed gas transportation costs of $4.5/mcf
(527/boe) and field costs (capital costs plus operating costs) of $400 million ($1.46/ boe) which
are those used by Commissioner Galvin in the examples he provided from the DOR in his
testimony of 24 February 2010. This data computes a total production tax of $ 0.583 billion to
which no investment credits are applied.

By adding the computed production taxes in tables 1 and 2 the stand-alone oil and gas
production tax for this FY 2009 (assuming 4.5 bcf /day) would be $4.185 billion (reduced to
$3.835 billion by the deduction of $350 million investment credits).

Table 6 calculates the production tax by combining the revenue cost and volume streams from
tables 4 and 5 to provide a combined oil and gas production tax calculation of $3.381 billion
(reduced to $3.031 billion by the deduction of $350 million investment credits).

For this period the loss to the State in production tax revenue caused by the cross subsidy
effect of combining oil and gas in the production tax calculation would have amounted to:

$3.381 billion less $4.185 billion = -50.804 billion.

This calculation indicates a lower potential loss in fiscal revenue for fiscal year 2009 compared
to fiscal year 2008. This is due to the lower prices and value of oil and gas revenue streams in
fiscal year 2009. However, $0.8 billion remains a substantial potential loss in a relative low
price / value environment.

Sincerely,
David Wood

dw@dwasolutions.com
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